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How deep has to be root () for mountains with height (k) of 8 km?
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How deep has to be anti-root (') for ocean depth (p) of 10 km?
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For mountain root

h-pe=(pm —pc) -t
Pc
t=—"—"#+—"-h
(Pm = pe)
t=4.45-h
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For sea anti-root

(Pm - pe) -t
(pc = pw)
(Pm — pe)

P (pe— pw)

t =

2.73-p

tl



Pratt-Hayford

mantle
3.27 ﬁ




Pratt-Hayford

mantle
3.27 ﬁ



Pratt-Hayford




Pratt-Hayford

sea level

D =100 km




How much should be density of block with height of 8 km?
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How much should be density of block with ocean of 10 km depth?
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Density of ocean block

D-pe=(D=p)-p+p-pu



Density of ocean block
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Density of ocean block

D-pe=(D=p)-p+p-pu
_ Dpe = ppw
D—p

p
Ap = (pe — Pw)D—_p



